
Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

2477, 6 × 0.1 = ________ 8273, 1 × 0.01 = ________

3893, 8 × 0.01 = ________ 4932, 2 × 0.001 = ________

6134, 4 × 0.0001 = ________ 4620 × 0.001 = ________

6818, 3 × 0.1 = ________ 9180, 6 × 0.1 = ________

7111, 5 × 0.001 = ________ 8655, 5 × 0.0001 = ________

1458, 9 × 0.01 = ________ 4083, 6 × 0.001 = ________

4226, 2 × 0.0001 = ________ 5473, 3 × 0.001 = ________

7170, 6 × 0.001 = ________ 5460, 7 × 0.001 = ________

5681, 6 × 0.0001 = ________ 2898, 1 × 0.0001 = ________

6831 × 0.01 = ________ 4961, 4 × 0.001 = ________
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Nom: 　　　　　　　 Date: 　　　　　　 Note: 　　　

Multiplier les nombres décimaux par des puissances
négatives de dix

2477, 6 × 0.1 = 247.76 8273, 1 × 0.01 = 82.731

3893, 8 × 0.01 = 38.938 4932, 2 × 0.001 = 4.9322

6134, 4 × 0.0001 = 0.61344 4620 × 0.001 = 4.62

6818, 3 × 0.1 = 681.83 9180, 6 × 0.1 = 918.06

7111, 5 × 0.001 = 7.1115 8655, 5 × 0.0001 = 0.86555

1458, 9 × 0.01 = 14.589 4083, 6 × 0.001 = 4.0836

4226, 2 × 0.0001 = 0.42262 5473, 3 × 0.001 = 5.4733

7170, 6 × 0.001 = 7.1706 5460, 7 × 0.001 = 5.4607

5681, 6 × 0.0001 = 0.56816 2898, 1 × 0.0001 = 0.28981

6831 × 0.01 = 68.31 4961, 4 × 0.001 = 4.9614
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